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The figtres in the margin indicate full marks
for the questions.

(MODERN INDIAN LANGUAGE)

(NEW COURSE)

Full Marks : 100

Pass Marks : 30

Time : Three hours

Q. No. 1 carries 7 nnrk each

Q No 2 cnrries 2 nnrks enclt

Q. No 3 cnrries 4 nnrks cnclr

Q. No. 4 cnrries 5 nnrks enclt

Q. No 5 caties 7 mark eaclt

Q. No. 6 curies 2 nnrks cnclt

Q. Mr. 7 urries 4 nnrks enclt

Q No 8 cnrrics 3 nmr*s cach

Q. No. 9 cnrries 7 mnr* each

Q. No. 70 cnrries 2 nwrks anclt

Q. No. 11 cnries 4 nnrks enclt

Q. No. 12 cnrries 3 nmrks cnclt

Q. Mr. 13 mrries 7 nnrk enclr

Q. No. 14 cnrries 2 nnrks cnch

Q. No. 15 cnrries 70 nrqrks caclr

-lx7 = 7

2x7 : -14

4x7 = 4

5x2 = 10

1x5 = 5

2x5 = 10

4x1 = 4

3x2 = 6

1x2 = 2

2x2 = 4

4x^l = 4

3x2 = 6

"Ix6 = 6

2x4 = 8

10x1 = 10

Contd.

Total =100
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